ERLR—k
1F 4 T FE AR

F1IRIEEPFELEFEERRES
SFI5E3IR27~28H
REVFARBEE

ROUND1-G1
JIEASL. 4 Hif BT & ¥4 TEC _ ATH Total
1 |Zm| &2 gt R I NI UEA 16.94 17.38 24. 32
2 g 130 TR B—r3q 16.94 7.14 24. 08
3 [k fLE AR IS =3 15.96 6.90 22. 86
4 |BHE P g Nyt A ZA 15.82 6.72 22.54
5 |MeiE AR Nl Ny YA 2A 15.40 6. 60 22. 00
6 |IURE AR REA IR Ny YA H2A 14.84 6.24 21.08
TR B (I Ny A ZA 14.56 6.18 20. 74
8 |y sk REP IR A 13.86 5.88 19. 74
9 xR Ek IR NI UEA 13.72 5.88 19. 60
10 |ZSAS il AL v 13.30 5.76 19. 06
11 [Edg 2 EE I I NI IHEA 13.02 5.58 18. 60
12 [AH £ T ARSL B oEA 12.04 5.10 17. 14
ROUND1-G2
NEAE 4 Hi BT %4 TEC  ATH Total
I |fWe BnE NG AT 17.22 7.26 24. 48
2 [EH —Ek HOHR s 16.66 7.08 23.74
3 ek IR NI TEA 16.52 7.08 23. 60
4 |BE B i U T 16.52  7.02 23. 54
5 |5 WAy PRI IR =g 16.24 6.90 23. 14
6 |PE FFFE )1 A 14.84 6.24 21.08
T oPEAR ZEHE s HUR Nyt 2A 14.56 6.36 20. 92
8 |ARWF B PR R Frbhv 14.28 6.12 20. 40
9 [HH % K I =g 13.58 5.82 19. 40
10 |&HA 2=y e NI UEA 13.30 5.70 19. 00
11 |Z#m (h23 Frai Lok Nyt H2A 12.32  5.22 17. 54




EERLAR—F F1IReEPFEEFEEIRKE

SH5E3A27~28H

1EE T FE AR REVFAEEE
ROUND1-G3

JEAE 4 Hi GIE: 4 TEC  ATH Total
1 |PEHE e AbfgiE T IEA 17.50 7.38 24. 88
2 |BEX VBA N1 Nyt A2A 16.94 7.14 24. 08
3 |&%H ERk A=l T3 16.10 6.84 22.94
4 (Mis EA BRI NS AvE et 15.82 6.78 22. 60
5 |kaak  EAY WA SR T3 14.98 6.42 21. 40
6 [im % B Nyt 54 14.56 6.24 20. 80
T |BERS REAE Iiy=p Ny YA LA 14.42  6.00 20. 42
8 [AbWl HL B IR IR A 13.30 5.52 18. 82
9 (=W H3 A F IR Fr v 13.02 5.58 18. 60
10 |VE% #ThE e ey I Nyt A A 12.18 5.10 17.28
11 |5 Bifn i I IR Ny A 2 A 11.48 4.86 16. 34

ROUND1-G4
NEAE 4 Hi BT & 4 TEC  ATH Total
|k Fesk S =3 17.22  17.32 24. 54
2 |fhA BFR T R T3 17.08 17.26 24. 34
3 R OEX )1 Bk Nyt A 2 A 16.24 6.90 23. 14
4 |WI #3 IR I A 16.10 6.72 22. 82
5 | X% fi] 1 11 I NI UEA 15.40 6.84 22. 24
6 A WAL —HR I A 14.84 6.24 21.08

fitik PG IR A 14.42 6.18 20. 60
8 |liA ZZ i it Bk T IEA 13.72 5.76 19. 48
9 U plpdr g Nyt 54 13.16 5.64 18. 80
10 |ALE LR Tl I v 13.02 5.46 18. 48
11 B e N T3 13.02 5.46 18. 48




EERLAR—F F1IReEPFEEFEEIRKE

SH5E3A27~28H

1EE T FE AR REVFAEEE
ROUND1-G5

JEAE 4 Hi GIE: 4 TEC  ATH Total
1 |BRI Ex JevigE Nyt HA 16.52 6.96 23. 48
2 |HREF A B R IR AT F 16.10 6.96 23. 06
3 [ MEAE fi] | 11 I Nyt A 24 15.68 6.60 22. 28
4 |Fil @ IR I uEA 15.26 6. 42 21. 68
5 [FE bk R IR T3 15.12 6.48 21. 60
6 |FEH XA E IR A 14.98 6.54 21. 52
7D T )N = 14.84 6.36 21. 20
8 |[EH B TR Frhy 14.70 6. 42 21. 12
9 |ME Pz Frask L Nyt A XA 14.56  6.42 20. 98
10 [fEH  ACATTD ITES2S Nyt A A 14.00 5.88 19. 88
11 [ Tyl RERS IR Nt A 13.44 5.76 19. 20
12 |faf] s B IR IR A ZTF 13.30 5.76 19. 06
ROUND1-G6
NEAZ £ Hi Fr_ & ¥ 4 TEC  ATH Total
1 | R P21 B T3 15.68 6.78 22. 46
2 |8k BB A IR AV 15.12  6.66 21.78
3 |&m qE TR I T3 15.12 6.48 21. 60
4 [ FiE iR PR R Nyt 54 14.98 6.54 21. 52
5 (lhn ¥ S IR Nyt A 2 A 14.98 6.36 21. 34
6 |BTES AR i i) Wk Nyt A XA 14.70  6.42 21.12
7O[EHE AR 1 0 e Ny A LA 14.28 6.18 20. 46
8 |[h&E KT B R NI UEA 14.28 6.06 20. 34
9 (kW ZKZ K B = 13.86 5.88 19. 74
10 PkE =R Ty IR Ny P LA 13.02 5.58 18. 60
11 |B5ES mRA AR IR T3 12.60 5.40 18. 00




fERLR—k

F11R2ERFEEFEERKE

SHI5%E3H27~28H
1 FEZFE AR REBRT A B £E
ROUND1-G7
JIEASL. 4 Hif BT & ¥4 TEC _ ATH Total
Lok B NS = 17.64 17.56 25. 20
2 (fEH W HUHR IS T 16.94 7.08 24. 02
3 A WeEE N=1 AT 15.96 6.78 22.74
4 [EAKR AL HOHR NI UEA 15.82 6.84 22. 66
5 |tk B TRl I = 15.82 6.66 22. 48
6 |HF L 2 ] S NI UEA 14.98  6.42 21. 40
TR ROk HITE I Nyt A 24 14.14 6.12 20. 26
8 & EilE Nl B oEA 13.72 5.76 19. 48
9 [EH AfE I =g 13.02 5.64 18. 66
10 |FH B AR D 12.88 5.52 18. 40
1T |1 A =gy = 12.74 5.52 18. 26
ROUND1-G8
NEAY. 4 Hi B & ¥4 TEC  ATH Total
1 [FRHE R =R Nyt Af LA 16.66 7.14 23. 80
2 ke ke —HR Frhy 16.52  17.20 23.72
3 |BH A e BB % B oEA 16.52  6.96 23. 48
4 hE EBE P IR Nyt A A 16.24 6.96 23. 20
5 |%eH Fizx REA IR Nyt A LA 15.26 6. 42 21. 68
6 |t BLA i I IR Nyt BA 14.42 6. 06 20. 48
AR EFY gl Frry 14.14 6.18 20. 32
8 [thirf Wi R N oEA 14.14 6.06 20. 20
9 AP )1 NI UEA 13.58 5.82 19. 40
10 | &I Gl BBk E = F R AT 12.88 5.52 18. 40
11 |[KHE R A=l = 0.00 0.00 0. 00




EERLAR—F F1IReEPFEEFEEIRKE

SH5E3A27~28H

1EE T FE AR REVFAEEE
ROUND1-G9

JIEASL. 4 Hif BT & ¥4 TEC _ ATH Total
1 | R& Rk TR AT 17.50 17.44 24. 94
2 |EHH AR PR I Nyt A LA 17.50 7.44 24. 94
3| Bl T IR B oEA 16.94 7.38 24. 32
4 PR TaME B R NI UEA 16.94 6.78 23. 72
5 |[faAk . T B T IEA 15.96 6.72 22. 68
6 |G FRE R R =g 15.68 6.84 22. 52
T Al fEXR R I U =g 15.68 6.60 22. 28
8 [y EH EG0 =y 14.70  6.12 20. 82
9 [WEF Eid I Nyt A 14.70 6.06 20. 76
10 ks Fjk WA VA 14.00 6.06 20. 06
11 |0 WA —ER v 14.14 5.76 19. 90
12 |k PRy LIS Fr Y 13.72 5.70 19. 42

ROUND1-G10
NEAE 4 Hi BT %4 TEC  ATH Total
RN PSS TS 5 T IR T3 17.64 17.50 25. 14
2 |t % Lefi I Na (=S 16.94 7.08 24. 02
3 |RA Eaplil Nyt 2A 16.52 6.96 23. 48
4 |EH KW i U NI UEA 16.52 6.84 23. 36
5 Al ALz TG IR 3 14.98 6.54 21.52
6 |@&fk AW R IR Ny A ZA 14.70 6.12 20. 82
(VN g P IR Nyt A A 14.42  6.24 20. 66
8 |MaH R IpA Nyt A LA 14.28 6.12 20. 40
9 /hE KHE IR B EA 14.00 6.12 20. 12
10 |fefa AEAd L R Fr b 13.02 5.52 18. 54

K& Ll T I 0.00 0.00 0. 00




EERLAR—F F1IReEPFEEFEEIRKE

SH5E3A27~28H

1EE T FE AR REVFAEEE
ROUND1-G11

JEAE 4 Hi GIE: 4 TEC  ATH Total
1 |BAS Fant NS T3 17.36 7.32 24. 68
2 |RWE Bk IR 111 B =3 16.66 7.02 23. 68
3 |k AOA dbifiE I oEA 16.38 6.90 23. 28
4 [EA %A B Nyt A 2 A 15.54  6.48 22. 02
5 A ok Nl T3 14.98 6.42 21. 40
6 |k o TR T IEA 15.12 6.18 21. 30
7T |IL R T IR T3 14.00 5.94 19. 94
8 xR i ey U T IEA 14.00 5.94 19. 94
9 |[FmzE HRZE LAY I D 13.44 5.88 19. 32
10 [fAR  ExH AR NI UEA 13.30 5.82 19.12
11 |HHE B = F R NyP A LA 12.88 5.46 18. 34

ROUND1-G12
JEAE 4 Hi BT & 4 TEC  ATH Total
1 | tE 57 O = 17.64 17.56 25. 20
2 WG A& FUERIF T3 17.64  7.44 25. 08
3|k ALHE REAC IR T3 16.94 17.26 24. 20
4 |RAE ®ER i it Ik Nyt A XA 16.66 7. 14 23. 80
5 (A ¥FE N D 16.52 7.02 23. 54
6 | Wi BT I Ny A ZA 15.96 6.78 22.74

EROLE Tl I NS A 15.68 6.72 22. 40
8 |/ E F IR A 15.54 6.72 22. 26
9 |fEEF HELE R Nyt A2A 14.00 6.12 20. 12
10 | A AME f] 11 A 13.86 5.94 19. 80
11 |[fepE NE K B = 12.60 5.40 18. 00




ERLR—k
1F 4 T FE AR

F1IRIEEPFELEFEERRES
SFI5E3IR27~28H
REVFARBEE

ROUND1-G13
JIEASL. 4 Hif & % TEC _ ATH Total
L= 7T Tt IR Nyt A A 17.36 7.56 24. 92
2 |BI & T oy I Ny YA 2A 17.22  7.62 24. 84
3| R AL B oEA 15.96 6.90 22. 86
4 |hnpE BEvE i I Ny A ZA 15.82 6. 84 22. 66
5 | = OkE R IR VA 15.82  6.72 22. 54
6 [T FE AR v 14.70 6.18 20. 88
(VAN fi] | 11 I T 14.28 6.06 20. 34
8 s EAE Nl =y 14.14  6.00 20. 14
9 |EEF R L IR Nyt 2A 13.72 5.94 19. 66
10 |WEE A A= F IR NI A 13.58 5.64 19. 22
IO (0 N )N A 13.16 5.52 18. 68
ROUND1-G14
NEAY. 4 Hi B & % TEC  ATH Total
1 |/ el P21 IR NyHhA2A 17.78 7.56 25. 34
2 |Ail ¥ T IR g 17.50 7.56 25. 06
3|k e SUHDIR =y 16.66 7. 14 23. 80
4 |BrE VIR el Nyt 2A 16.66 7. 14 23. 80
I VAN eSS JeiigE NI UEA 16.52  7.14 23. 66
6 |lER Zid R I I U Ny A ZA 16.24 7.26 23. 50
FR R RN A 15.96 6.78 22.74
8 |m WL T IR Nyt A LA 15.54  6.90 22. 44
9 (K SEE B R NI UEA 15.40 6.78 22. 18
10 [ 2P IFA Ny A ZA 13.72 5.76 19. 48
FIH Gl AR IR 0.00 0.00 0. 00




EERLAR—F F1IReEPFEEFEEIRKE

SH5E3A27~28H

1EE T FE AR REVFAEEE
ROUND1-G15

JIEASL. 4 Hif BT & ¥4 TEC _ ATH Total
1|28 ' BT NI UEA 17.64 17.56 25. 20
2 |hvE PN Nyt A LA 16.80 7.26 24. 06
3 || F e ] Uk Nyt A 24 16.52  6.90 23. 42
4 |#kE =<5bH L I Nyt A 24 15.68 6.60 22. 28
5 |E ZFAE TR Ny YA 2A 15.26 6. 48 21.74
6 |EF HEX =y AT 15.12 6.48 21. 60
TR R S T 14.42 6.18 20. 60
8 W5 PRIk T e B oEA 14.14 5.94 20. 08
9 |HEm 1K) TRl I NI UEA 13.58 5.76 19. 34
10 Ay —HR NyH A HA 13.58 5.76 19. 34
1 PIE (= B IR R Fr b 13.58 5.58 19. 16

ROUND1-G16
NEAY. 4 Hi B & ¥4 TEC  ATH Total
[ g R I Ny YA 2A 17.64 17.50 25. 14
2 |k 2R i ] Y =g 16.52 6.84 23. 36
3 IR XE = Frry 16.38 6.90 23. 28
4 Pprdt IR = 15.40 6.72 22. 12
5 [fiE o RIBR 3 15.54 6. 54 22.08
6 |#%EE Y REA IR Ny A ZA 15.26  6.48 21. 74

KB SR TR 3 15.26 6.36 21. 62
8 |xA  HAnRL BB NI A 13.72  6.12 19. 84
9 |ERpE LE i e R Nyt A LA 13.86 5.82 19. 68
10 [MEA R =R Nyt BA 13.44 5.70 19. 14
1 s =r S HUR Ny A ZA 13.30 5.82 19. 12




